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	2019/May Braindump2go 100-105 Exam Dumps with PDF and VCE New Updated Today! Following are some new 100-105 Real

Exam Questions:1.|2019 Latest 100-105 Exam Dumps (PD & VCE) Instant

Download:https://www.braindump2go.com/100-105.html2.|2019 Latest 100-105 Exam Questions & Answers Instant

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNZW1Fd3pCZzBVLWs?usp=sharingNew QuestionHow does a

router handle an incoming packet whose destination network is missing from the Routing table?A.    it discards the packet.B.    it

broadcasts the packet to each network on the router.C.    it routes the packet to the default route.D.    it broadcasts the packet to each

interface on the router.Answer: ANew QuestionWhich feature facilitates the tagging of frames on a specific VLAN?A.    RoutingB. 

  hairpinningC.    switchingD.    encapsulationAnswer: DNew QuestionWhen you troubleshoot an IPv4 connectivity issue on a

router, which three router configuration checks you must perform? (Choose three)A.    Verify that the router interface IP address IP

address is correct.B.    Verify that the DNS is configured correctly.C.    Verify that the router and the host use the same subnet mask.

D.    Verify that the router firmware is up-to-date.E.    Verify that a default route is configured.F.    Verify that the route appears in

the Routing tableAnswer: ABFNew QuestionWhich two statements about unique local IPv6 addresses are true? (Choose two)A.   

They are identical to IPv4 private addresses.B.    They are defined by RFC 1884.C.    They use the prefix FEC0::/10D.    They use

the prefix FC00::/7E.    They can be routed on the IPv6 global internet.Answer: ADNew QuestionWhich header field is new in

IPv6?A.    Hop LimitB.    Flow LabelC.    VersionD.    Traffic ClassAnswer: BNew QuestionWhich feature automatically disables

CEF when it is enabled?A.    RIBB.    ACL loggingC.    multicastD.    IP redirectsAnswer: BExplanation:ACL Logging means to use

the "log" or "log-input" parameters at the end of the ACL statements. For example: "access-list 100 deny icmp any any echo reply

log-input". In either situation, remember that using either of these two parameters disables CEF switching, which seriously impacts

the performance of the router.New QuestionWhich NAT term is defined as a group of addresses available for NAT use?A.   

one-way natB.    static natC.    dynamic natD.    nat poolAnswer: DNew QuestionWhich statement about NTP is true?A.    each

device is enabled as server by defaultB.    the default authentication key number is 1C.    the default stratum number is 5D.    the

default source of an ntp message is the interface connected to the next-hop for server peer addressAnswer: DNew QuestionWhich

information is used to install the best route to a destination in IP routing table?A.    the tunnel IDB.    the interface numberC.    the

prefix lengthD.    the autonoums systemAnswer: CNew QuestionDrag and Drop QuestionDrag and drop the benefits of a cisco

wireless Lan controller from the left onto the correct examples on the right.  Answer:   New QuestionDrag and Drop QuestionDrag

and drop the IEEE standard Cable names from the left onto the correct cable types on the right.  Answer: !!!RECOMMEND!!!

1.|2019 Latest 100-105 Exam Dumps (PD & VCE) Instant Download:https://www.braindump2go.com/100-105.html2.|2019 Latest

100-105 Study Guide Video Instant Download: YouTube Video: YouTube.com/watch?v=rVAmvvPeRhU
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